
1. Completa la tabella scrivendo i capoluoghi delle regioni

	TOSCANA
	

	UMBRIA
	

	MARCHE
	

	LAZIO
	

	ABRUZZO
	

	MOLISE
	


2. Collega ogni regione con la parte di territorio che gli appartiene

Toscana






Tevere

Umbria






Gran Sasso e Maiella

Marche






Monte Conero

Lazio







Cascata delle Marmore

Abruzzo






Biferno

Molise






Maremma
3.Rispondi alle domande
1. Della Toscana fa parte anche un arcipelago. 

Scrivi il nome di alcune isole che appartengono alla regione.

……………………………………………………………………………………………………………………………………………

…...............................................................................................................................................

2. Il turismo in Umbria è molto collegato alla religione e alle manifestazioni culturali. Quali sono i luoghi più visitati?

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………......................

3. La città di Fabriano, nelle Marche, per cosa viene ricordata?

…………………………………………………………………………………………………………………………………………

4. Il Lazio ha al suo interno uno Stato indipendente, quale?

…………………………………………………………………………………………........................................................

5. Qual è la regione più piccola dell'Italia Centrale?

…………………………………………………………………………………………………………………………………………………

6. Descrivi il clima del Molise

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………......................

7. Da dove si estrae il marmo in Toscana?........................................................................

      8. In quale località molisana si fabbricano le campane?....................................................

      9. Indica le province della Toscana.(10)..................................................................................

      ….......................................................................................................................................................

     10. Indica le province delle Marche( 5)................................................................................

       …......................................................................................................................................................

ENGLISH 

1 COMPLETE USING THE CORRECT

FORM OF THE VERB:

1.She _____________(drink)tea in the

afternoon.

2. They ______________ (watch) TV

every day.

3. Tom ______________ (play) football

on Saturdays.

4. We ______________ (go) to school

every day

5. He usually______________(cook)

spaghetti for dinner.

6. I ______________ (drink) coffee in

the morning

7. Sally and Tom ______________

(study) German.
2 MAKE SENTENCES NEGATIVE.

USE DON’T /DOESN’T:

1. They always go to the cinema____________________________ 

2. She speaks French well. _____________________________

3. I wakes up at 7 in the morning._____________________________

4. We play tennis in the afternoon_____________________________

5. You eat milk and cereal in themorning_____________________________

   3 CHOOSE THE CORRECT FORM OF THE VERB:

1. She play / plays the piano in the mornings. 2. Molly listens / listen to the music.

3. They eat / eats pizza. 4. We read / reads Italian books. 5. My mother cook /cooks cakes very well

6. He drink / drinks apple juice in the morning. 7. I study / studies History every Tuesday.

8. You write / writes a letter to your American penfriend.       

. 2 Write interrogative sentences using have got or has got.
1. _______ Peter _______ a bike?     2. _______ we _______ a black dog?
 3. ______the cat _______ green eyes? 4. _______ they _______ a video game?
 5. _______ Linda _______ a doll? 6. _______ Tom ______a car? 

7. _______ he _______ dog? 8. ________ you _______ a pencil?

3 Complete the sentences using hasn’t got or haven’t got. 
She ______________black hair. 2. They _______________a lot of books.
 3. They ___________ two rabbits. 4. I _______________ a new car
 5. Jane _______________a sister 6. Sam ____________ an umbrella. 
7. Mark and Rob ______________ a PlayStation. 8. Oh no! I ______________ my English book!

· PUT THE WORDS IN THE CORRECT ORDER.
1. three/ Clare/ have/ and/ got/ Billy/ dogs ___________________________ _________________________ 
2. 2. small/ Tom/ got/ garden/ a/ has _________________________ 
3. you/ guitar/ got/ a/ have _________________________

 4. has/ computer/ Daniel/a got _________________________ 
5. got/ she/ pink / has / umbrella/ a _________________________
5. COMPLETE WITH THERE IS OR THERE ARE.

· …THERE ARE two Students

· ………………. …….a teacher.

· ……………………. Two descks.

· ……………………….a book.

· ……………………..A  blackboard.

· ……………… ……….two chairs.

·  ……………………….A ruler

· ………………………….two pencils.

· ………………………….a rubber.

· ……………………….a world map.

 READ AND CIRCLE TRUE, FALSE OR NOT GIVEN

It’s a cold day in winter. Lucy and Sally are playing in the garden. They’re wearing their warm mittens and hats and their anoraks. They’re very happy because it’s snowing. They like snow. They are making a big snowman. It’s a beautiful snowman! The girls have a red hat, a yellow scarf a long carrot and two black buttons for the snowman. Blacky, their dog, is playing with them in the snow. Oh no! Blacky is jumping on the snowman. The children are very sad. They’ve got a hat, a scarf, a carrot and the buttons but they haven’t got a snowman now.
 1 A. It’s winter TRUE FALSE NOT GIVEN 
B. It’s sunny TRUE FALSE NOT GIVEN
 C. The girls are sad TRUE FALSE NOT GIVEN 
D. They live in London TRUE FALSE NOT GIVEN 
E. They’re making a snowman TRUE FALSE NOT GIVEN 
F. Blacky is a cat TRUE FALSE NOT GIVEN 


G. The dog is jumping on the the snowman TRUE FALSE NOT GIVEN

ESERCIZI DI MATEMATICA

1) Quale tra queste operazioni NON ha come risultato 34?

A: 9 X 4 – 2    B: 27 X 2 – 12   C: 70 X 1 – 36   D: 20 X 4 – 46 

2) Quale tra le seguenti espressioni ha come risultato 65? 
A: 3 + (86 – 24 ) X 2

B: 64 : 8 X ( 2 + 5 )

C: (39 – 4) X 2 – 5

D: 32 X 2 + ( 18 – 5 )

3)   ESEGUI LE SEGUENTI ESPRESSIONI

1) {75 - [30 : (2 + 3) + 14] : 5 + 1} : 24 + (29 - 17) : 4 = 6

2) (27 : 3 + 1) : 5 + {28 - [12 - (3 * 5 + 1) : 4] x 3} : 2 = 4

3) (24 : 4 + 2) x (50 - 35 : 5 + 2) : 9 -{7 + [(21 : 7 + 1) + 5] : 9} x5 = 0

4) 324 : {90 x 2 - 4 - 5 x [50 + 2 - 4 x (5 x 8 - 7 x 4) + (24 x 5 + 36 x 2) : 8]} = 9

5) {75 x 15 - 8 x [153 - 6 x (56 - 288 : 9) + (36 + 90 x 6) : 8]} : 53 = 9

6) {[87 - 154 : (43 - 7 x 3)] : 10 + [65 x9 - 13 x(115 - 13 x 8)] : 17} : 17 = 2

7) {224 - 5 x(105 : 35 + 21) - [162 : 54 + (13 - 65 : 13)x2 + (86 + 7 x 2) : 5] x 2} : 13= 2

8) 25: 5+ 78 :2 :3 -4 + 62 :2 -60 :15 x 2- 2x 11 -3= 12

9) [ 46- (10+ 10 x3 -24 :3) -10 ]: [5 +2 x 3- (46 :23 +5 )]- 1= 0

10) {( 20 x 5+ 8 ):[( 3 + 8 x 3) :9 +( 161: 23 +24 :3) :5 ]}: 3- 19: 19= 3

11) 17 + [13 + (2 + 8) + (21 - 9)] 52

12) (10 - 2) – [(15 + 12 - 17) – (26 + 10 + 5 - 33)] 6

13) 35 - 10 + 5 - [35 - (5+ 10 - 5)] - 1= 4

14) 6 : 2 + 8 · 4 – (3 + 2 + 1) · 5 = 5

15) (10 + 1 + 5) : 8 + (80 + 40) : 60 = 4

16) (34 : 2 + 3 · 3 – 5 · 2 · 2) : 6 - 1 = 0

17) (7 + 4 + 3) – (8 + 2) + (11 + 6) : 17 = 5

18) 18 · 6:27 - [26 - (81 :9 · 2:3 + 3 · 6)] = 2

19) [12 + 3 – 11 – 3 + (18 + 7 – 5 + 3 - 9) : 7] + 10 – 2 - 8 = 3

20) 51 : {12 + 3 · [2 · 18 – 9 · (24: 6 - 2) :6] - 60} + 7 = 8

4) ESEGUI LE SEGUENTI OPERAZIONI:

3.234,78 + 9.476.983 + 0,334 =

 7.296,417 + 3.037 =

95.419,11 - 1.649.132 = 

100.078.852 - 18.040

22.385,89 x 0,3 = 

26.339 x 79 =

68.024 : 69 = 

20.050 : 73 =

5.476,75 + 36,656 = 

74.018,5 + 2.442.583 + 19,718 =

5) In  quale caso il numero 36000 è stato rappresentato correttamente?

A: 36 X 10¹    B: 36 X 10²  C: 36 X 10³   D: 36 X 10⁴   

GEOMETRIA

Problemi:

· Un gruppo di 12 persone si reca in gita spendendo complessivamente 1436 euro. Se il costo a persona per il pernottamento è di 64 euro, a cui si aggiungono 8 euro per l’entrata in un museo e 6 euro per le tasse turistiche, quanto è costato complessivamente l’affitto del pullman?

· Determina l'area di un rettangolo, sapendo che ha il perimetro di 162 dm e la base che misura 63 dm.

·  Un quadrato e un rettangolo sono isoperimetrici (hanno lo stesso perimetro), ed hanno il perimetro di 100 m. Sapendo che la base del rettangolo supera l'altezza di 8 m , calcola l'area di ciascuna figura

· Dati i poligoni CALCOLARE il lato  e  e l’AREA

P= 16,                              P= 28                                       L¹ 10 cm, L²?  P=24
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